
10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 1/2

19

18

17

16

15

14

12
11

10

9
8

7

6

27

5

26

25

4

24

3

2

23

22

1

21

20

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body

1 CONVERTER,Catalytic 52090348AC 1 No  EX0 J U 74

2 CONVERTER,Catalytic,Upstream 05175603AA 1 No  EX0 J U 74

3 FILTER ASSY,DIESEL PARTICULATE 52090351AC 1 No  EX0 J U 74

4 BRACKET,Exhaust Hanger 52124047AA 1 No EX0 J U 74

5 BRACKET AND ISOLATOR,Exhaust 52089898AA 1 No ES0
EX0 J U 74

javascript:void();
javascript:void();
javascript:void();


10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 2/2

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body

6 ISOLATOR,Exhaust Support 52124062AA 1 No ES0
EX0 J U 74

7 BRACKET,Isolator 52090132AB 1 No EX0 J U 74

8 TUBE,Particulate Filter,Inlet 68032599AA 1 No EX0 J U 74

9 TUBE,Particulate Filter,Outlet 68032610AA 1 No EX0 J U 74

10 MUFFLER AND TAILPIPE,Exhaust 52124071AE 1 Yes EX0 J U 74

10 MUFFLER AND TAILPIPE,Exhaust 52124071AF 1 Yes EX0 J U 74

11 HOLDER,Particulate Tube 68032612AA 1 No EX0 J U 74

12 GASKET,Exhaust Pipe 05175669AA 1 No EX0 J U 74

-13 SEAL,Front Exhaust Pipe To
Turbocharger 68012070AA 1 No EX0 J U 74

14 ISOLATOR,Exhaust Support 52124044AA 1 No EX0 J U 74

15 ISOLATOR,Exhaust Support 52124115AC 1 No J U 74

16 SHIELD,Turbocharger 68012297AA 1 No EX0 J U 74

17 SHIELD,Heat 53013508AA 1 Yes DGJ
DGU J U 74

17 SHIELD,Heat 53013915AA 1 Yes DGJ
DGU J U 74

18 CLAMP,Exhaust 52090372AA 2 No EX0 J U 74

19 CLAMP,Particulate Tube 68032611AA 1 No EX0 J U 74

20 BOLT,Hex Flange Head,M6x1.00x10.90 05183964AA 3 No EX0 J U 74

21 BOLT,Hex Flange Head,M6X1.00X17.00 06507947AA 1 No EX0 J U 74

22 BOLT,Hex Flange Head,M10x1.50x25.00 06104215AA 2 No EX0 J U 74

23 NUT,M8x1.25 06506619AA 3 No EX0 J U 74

24 NUT/RIVET,Hex Drive,M8x1.25x17.78 06505974AA 2 No EX0 J U 74

25 NUT,Exhaust Pipe 05175408AA 3 No EX0 J U 74

26 STUD,Double Ended 06506606AA 3 No EX0 J U 74

27 PIPE,Exhaust Extension 05175608AA 1 No EX0 J U 74

-28
CONVERTER,Catalytic,Downstream,Main
Converter with short Pipe and Flange On
The Outlet Pipe

52090487AB 1 No  EX0 J U 74

Note: Negative (-) item numbers indicate no illustration available.

javascript:void();

